
Jlt 1 1\ (# 2 JI) 
(J	 • 4 ~U-fl; Ion;., • ~#.-i;h'l!fl; 8%) 

I.	 0'-Jj'HtT 7')(a)(h),r,+ol!*'1II'i P ~ Q k:;§'i!H~J:.~fIWogieally equivalent) 0 

(~kit.:;§' ~?r . oldH'J tilitA • }tiHt • it. ttBIl ' :;§' M~ -t ,to"-) 
- _. 

(a)	 i' ~ i' -> 'i - Q ~ 'l -> i' 

(h)	 i' ~ I' -> If ' Q = I' 1\ q 

2_ (,,) ttl. j;l T 7'1 }t (i *' j~ til '$ #-,;& it(lloolean runetion) ft», yo. 7.) ~ 0"-~t~!1t 'J:l A (d isjuuctivc 

normal form) (h) ll.ifl:,j!.rJ...=.fl!l AND gates' -iI!I OR gate It -11!1 NOT gale !It~ 1lt~0 0 

I

-.::...._L_c~J fix• .r. z) 

1 I I I 1
 
1 0 i 1
 

I 0 1 0
 

I 0 0 1
 

n I I I 0
 

010 0
 

o	 IJ I 0 

~~L_O__ 

J.	 1l'H~ 'f 1, i!-(unhmal setlU lt~ I'l--=.fl!l 1,i!- A·R ~ C 0"- Jj'J.I\, U = {l , 2, ... , 10) 'II = 11,4.7. 9}' 

R=p.2.J.4.51~C=12,4,6,81·~*-

(a) AU8 (1)) (AU/3)-(C-B) (e) Ana (d)symmetriedifferenee AEE>C (e) AnBUC 

4.	 i1H~1, i!- A = (1,2. J, 4J • -tE~J:.:if - ~H+' R = ((I, 2), (2, 2), (2, 4), (3, I), (4, 2)) • *'JIIli~I:.~~ f+. 
k:;§' Jl.-:if (a) &.. iHi(renex;vity) (h) 1HilHi(symmetry) (e) &"1Hil!'ti(anlisynllllelry) 

(d) ~~'ti(transitivity) (e) jji; ;f(partial ordering) 4. (it-'ll:t -J- tt Bil Jl' Iii . ~ M~ -t tt0"-) 

6. (a) ~."t:j~ ift: :-t,ti:if I'!Ul!d~#I;(nondeterministiefinite-stale machine) J\I = (/, S,/. A, a )~;l!d)l 

**#!Iil(state transition diagram) • ~ '!'-t:;jV,-1,f~$ I ={a, bj • Mt~$ s = {an .0', ,a2 } , :l!1: 

;jH~1,A=(a,.a,I' ~J1*~~a=a"' **-#!,;&itf7'J~T*, 0 

(h) 0"- Jj'J *'1 1Ili,r, t.t; A'f *u, = aabaabbb and u, = abba k :;§' ~t~Uj fb#l;l'/T ti 1': ?
 

(<0JH'J til~.~*,'#!iIHl ' :;§' M~ -r. ,t 0"-)
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i", I~I~"al .1:1·. 
a, +nnll {rr.}-, 
«.	 I :fT1,a 2 } lIull 

. 

;f. '1-1:, >Ig 
X,\ i1iJ 



0 

1. 2 J( (~ 2 "In 

7.	 :>!f Xl ,X, l1.. xJ 1!j,l\iE1ttJ:. ' I"lll,t x, ~ I,x, ~ l,xJ ~ I ' 

t.1in>\: X, + X, + xJ = 15 :tf ~HJl.iE1ttt.;W? 

R. (a) ~oll N, J, r, 0, L, 0, T} it<.J'IT 9'1 +-llI= ,mJl.~ ill .=. nAt4t#(hinary search tree) , N 04' jll,l\ It\. 
(h)	 A-~~ '!'Jl.it~(inonler 'raversal)i:.t'i9'] ill +-llI=,mJl. 0 

9.	 t.A¥ j: $. i.1; ~ 196)'mod 425 = I ~o 0 < J' < 425. 

(~if;: ~cd(I96, 425) = I) 

in. Ill.=.Jjj >\ ;tJl'(hinomia' Iheorem)ti '}j 

" 
I(-I)' C(II,k) = 0 
j -'l 

II.	 @J~T9']MJ!: 

(a) 4-:tf 256 -1m -'t.~ , lit -e; ir'lIMrlit... i!-'l}1ft!:.A ' {![ -e; ir'l1A i: t J.Vt. i\' ~ io ro] , ~'l, ir'l ia~ t: 

t e.. ~ol-e; ir'l m+ JI] 7<.. it<.JI. 41f 9'] , JJt.(f.I*" it. jJ -1IIl9rlitio ro] -'t.~ , ro] *IHt. - l.~ff III !IUt. 

.~-Im-'t.~IAt:t'.M.(f. ••lAft~T'~~~~•• ~IAt:t~.~~~~ill~lA~ 

~k.R2~-Im-'t.~~-IAt:t~ro]? 

(h)	 +'}jfu#l.J:.jJ 9r 9 {Jl.ro]"'IJl.ffl.ilJ;Ji.~ '<ttAt~.tii! 10{Jl.I"l'" '!'illtlJ 5 {Jl.7\:.q.J;J(.J\ ';rr+ 
~-;t~.(f.7\:.q..J\£."'MM7\:.q..J\:tf.ttMffl.1i>\?*~·~-;t~.(f.7\:.q..A. 

'!' . wouq.. A :tf • tt MJ>t 1i >\ ? 

12.	 iailtT9'JifiX-*'(a) .tX-itiiK x=x+ 1 tllAtlAoJ:.tJ:.iI:..f ~? (h) ~t.i1iX-*IA.tX-il~li~ 

i'1 ? ~~ 0 r.Ht;;~ , .tt~~ II ,l\ f.tJ:.(lhela nutation in terms or II) 0 

1.	 Ior i = 1 10 II 

2. Ior j = I 10 i 

J. rork =1 loj 

4. x=x+ 1 


